Tableaux des Puissances de Dix (A)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (A) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,002 0,02 0,0002 0,2
91 0,182 1,82 0,0182 18,2
10 0,02 0,2 0,002 2
94 0,188 1,88 0,0188 18,8
39 0,078 0,78 0,0078 7,8
46 0,092 0,92 0,0092 9,2
X 0,8 0,08 0,008 0,0008
49 39,2 3,92 0,392 0,0392
35 28 2,8 0,28 0,028
13 10,4 1,04 0,104 0,0104
77 61,6 6,16 0,616 0,0616
76 60,8 6,08 0,608 0,0608
X 0,02 0,0002 0,2 0,002
1 0,02 0,0002 0,2 0,002
46 0,92 0,0092 9,2 0,092
76 1,52 0,0152 15,2 0,152
15 0,3 0,003 3 0,03
26 0,52 0,0052 5,2 0,052
X 0,002 0,0002 0,02 0,2
63 0,126 0,0126 1,26 12,6
90 0,18 0,018 1,8 18
48 0,096 0,0096 0,96 9,6
67 0,134 0,0134 1,34 13,4
38 0,076 0,0076 0,76 7,6
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